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Who was the writer of ‘Desan Mein Des
Haryana' ?

(A) Lakhamichand

(B) Uday Bhanu Hams
(C) Dayachand Mayna
(D) None of the above

Biggest State of India In terms of area Is
(A) Maharashtra (B) U.P.
(C) Rajasthan (D) None of the above

The amendments which have created
uniformity in the structures of Panchayath Raj
and Nagarapalika institution across the
country are

(A) 74and 77
(C) 76 and 42

(B) 73and 74
(D) 21 and 61

Internal communication within Institutions
is done through

(A) WAN
(C) MMS

(B) LAN
(D) EBB
Select the word which is least like the other
words in the group.
(A) Othello

(C) Oliver Twist

(B) King Lear
(D) Macbeth

Gurudwara Dhamtan Sahib was built in
the memory of

(A) Guru Gobind Singh
(B) Guru Nanak

(C) Guru Tegh Bahadur
(D) None of the above

In front of a concave mirror, an object is placed
atadistance d, from the focus and the real
image Is formed at a distance d, from the
focus. Then the focal length of the mirror is

(A) Vdid2 (B) d,d,
(d; +d2) d
© - (D) { %2

D—

(N Em e

. T e F e AR 4 7

(A) SR

(B) 374 WY ¥H

(C) wTER AT

(D) I H @ wrd el

et 3 wend H e W e T @

(A) WERE ® 3.

(C) TISEI (D) 3% H A %

.t Ty E gEe U AV T Wewrad

¥ Heaa H A T JaE )
Ay 74377 8) 73374

(©) 763 42 (D) 2136

| et ¥ o ARG I

¥ mom A frn @ R |
(A) WAN (B) LAN
(C) MMS (D) EBB

. e TR g S wE A 271 IR @ FEl

Fa e R |
(A) e
() 3nfem Raw

(B) W& eiian
(D) ¥=Fad

. TR0 HHH Hifed s

T T |
(A) T ifeE fw
(B) &AM

(C) % T =FRIgY
(D) 3% ¥ | I3 T

U adel 39U 3 W U aw SiFa 4,
g0 R vl 7§ afit e wiafed d, 3

W T 2 | A v ) BiE a9

(A) Jdd, (B) dd,
oy (di+d;) d
(C) 5 (D) ' %2
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8 Whichotthe following States has a separate

10.

11.

12.

13.

14,

Constitution ?
(A) Jammu and Kashmir
(B) Nagaland

- (C) Karnataka

(D) West Bengal

~ Which of tha following Is not a world

heritage site in India ?
(A) Ahmedabad city
(B) Hampi group of monuments

- (C) Beluru-Halebeedu sites

(D) None of the above

Phalgu fest is held in Faral village on
(A) Nirjal Ekadashi

(B) Somavati Amavasya

(C) Kartik Purnima

(D) None of the above

Who is the current Speaker of Haryana
Legislative Assembly ?

(A) Abhay Singh Chautala
(B) Manohar Lal Khattar
(C) Kanwar Pal Gujjar
(D) Santosh Yadav

represents billion characters.
(A) Megabytes (B) Kilobytes
(C) Terabytes (D) Gigabytes

Baisakhi is usually celebrated on
(A) 14" of April (B) 25" of April
(C) 1*May (D) 31 December

ple, 100 people like
Apple juice, 150 like Orange juice and
75 like both. The number of people who
neither like Apple nor Orange is

(A) 100 (B) 250
(C) 175 (D) 225

In a survey of 400

The person who is unanimously regarded
as the founder of Modern China.

(A) Sun-Yat-Sen  (B) Guomindang

(C) Mao-Zedong

(D) Deng Xiaoping

3-

10.

1.

12.

13.

14.

15‘

3/2018 (2)
(A) =g aftt Fwai '
(B)
(C) FAlEH
(D) ufzem s
e 1 8 ¥H-7 vra i v fr
ferra vaa TE R 7
(A) JTFHaES 97T
(B) T 1 E TR
(C) Heps -BHTg 1uw
(D) 3% 1 @ wr
FEATM G IFE_ mEm e
(A) faster v
(B) WHad! HuTEEN
(©) wfda qftfm
(D) 3% A A F§ €
i faar=a & adaH s e R 7
(A) 3 fae e
(B) TATE €A W
(C) e I T
(D) Hdl AE
_ fafrm Smrd T R
(A) ATETERH (B) Freiarzs
(C) (D) frmarRE
ArE ama: FITAE E |
(A) 14 30 (B) 25 31«
(C) 173 (D) 31 fw=
400 S % UF waAw §, 100 A F {E
1 7@ 9EE 2, 150 1 A0 @0 @ ye @ 3l
751 211 @1 T8 qEE ¢ | 2 @, 76 Al
=1 T8 TEE FE ATt Al o T 8
(A) 100 (B) 250
(C) 175 (D) 225
I safd foaQ aauraa @ sgfE 97
HLASF W1 STl
(A) EA-ud-T (B) M
©) ma-freim (0 6 ﬁﬁ"H
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16.  World's only habitat for Asiatic lion found in

17.

18.

18.

20,

21,

which of the following National Park ?
(A) Bandhavgarh National Park

(B) Gir National Park

(C) Mukurihi National Park

(D) None of the above

Constructors are used to
(A) Construct the data
(B) Initialize the object
(C) Both (A) and (B)
(D) Neither (A) nor (B)

The mean of the first ‘'n’ natural numbers is

(a) 2t ) Mo+
(C) g (D) None of these

On 22 January 2015, PM Narendra Modi
launched the ‘Beti Bachao, Beti Padhao
Yojana' in which of the following city of
Haryana ?

(A) Kurukshetra
(C) Chandigarh

(B) Panipat
(D) Panchkula

A magnetic needle lying parallel to a

magnetic field requires W units of work to
turn it through 60°. The torque needed to
maintain the needle in this position will be

(A V3w (B) %W

C w (D) 2w

Rahul told Anand, “Yeslerday | defeated
the only brother of the daughter of my
grandmother”. Whom did Rahul defeat ?
(A) Son (B) Uncle

(C) Brother (D) Cousin
Gangaur is helg in the honour of goddess
(A) Sarasway (B) Lakshmi

(C) Gouri (D) Radha

16.

17.

18.

19.

20.

21.

-
e —

LLITTTTT

qﬁmﬁﬂz%%qﬁ:am%mgmm

fFrafafaa d 8 frm via STt g 7

(A) Fu=Tg YA I

(B) =i sem

(C) aFdi g 3u™

(D) 37 H & =g AF

TR TIWGF R E |

(A) T T )

(B) a?garriumu

(C) (A) 3 (B) g

(D) A4 (A)7E (B)

W4W ‘n’ Wi Hemai @ A §
n+1 . n(n + 1)

(A) = (B) ——

© 3 (0) AT

22 T 2015 i, TG iz 0 3
TR T, A wgred drer wfEn &
ﬁnﬁf’r@ﬁﬁﬁmmﬁ%ﬁ?
(A) Foar (B) urTa
(C) =3y (D) Y=Fen
@ﬁa@mm%mt@‘lgqmw

H 60° THH F AT W TFTE =7
ST R | g T v Rl o s w
& foru Tiftser et arer 2

V3

(A) Jaw (B) - W

C) w (D) 2w

USRS Y
< et MT§ 1 T | g A Rl s

(A) 9 (8) T

(C) g (D) <= Wi
TR e e e S
(A) T (B) @&

() = (D) T
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23. 'Complete the analogo
Bird : Fish : : Aarogtgan%s:%m"

(B) Ship
(D) Crocodile

(A) Submarine
(C) Boat

-4, -n.ao water taps together can fill a tank in

9= hours. The tap of larger diameter takes
10 hours less than the smaller one 1o fill
the tank separately. Find the time taken by
the tap with smaller diameter to fill the tank

separately.
(A) 25hrs. (B) 20 hrs.
(C) 15hrs. (D) 18 hrs.
25 is a lolklore Museum situated
in Gurugram.

(A) SriKrishna Museum

(8) Jahaj Kothi Zonal Museum
(C) Urusvati Museum

(D) Dharohar Museum

26. The countries who have been considered
as the founding members of ASEAN, are

(A) India, Malaysia, Philippines, Singapore
and Thailand

(B) India, Malaysia, Philippines, Singapore
and Nepal

(C) Indonesia, Malaysia, Nepal, Singapore
and Thalland

(D) Indonesia, Malaysia, Philippines,
Singapore and Thailand

27. is the current Chairman of
Haryana Public Service Commission.

(A) Manbir Singh Bhadana
(B) Narendra Singh Tomar
(C) Ajay Sura

(D) None of the above

00
28, |f (.1:!)‘ =a+ib.then(a.b)=

312018 (2)
23, wwEya gw el w |
wefl . woeh ¢ TATS W L 7

(A) W= (B) T

(C) ™ (D) Fmw=s
04, A EF A TH TR W oS 93 T wr wEA
. i . .. B
§ | 2 A ST H W F o 7 = Aren
| TR AT AR 10 HA T Y | TR

aﬁm%ﬂﬁ%ﬁmﬁfzmaﬁmm
fergn T ATEN WHA WA w4 |

(A) 2572 (B) 2072
(C) 1542 (D) 1872
25, e # fFaa o -
aEed ¥ |
(A) A FmEREE
(B) FET FIB LT HIETCHE
(C) I&=ail BUEGd
(D) TN HIETET
26. gs%mﬁ%asemﬁzémawﬁ%m

& 1 SR .
(A) mlmﬁm.w.mm

qEAS _ )
(B) %mwmm
() ?Eﬁﬁ’m.nﬁﬁm.m,mm

(D) nﬁﬁm,mﬁm,ﬁ?ﬁm.m

27. smémﬁmmﬁrﬂ%aémawa
I
(A) wER fae wer
(B) iz e am
(C) F=AHT
(D) I it & =i Tl

1_! 100 x
28, R (-—] _a+ib 2,9 (a,b)=
141 prer

1+
(A) (-1.0) @ (0.-1)
© (.1n ©) (1.0

© (1 (@ (1.0
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29,

30.

31.

33.

34,

35.

(24, X) I8

If line Joining P(12, 8) and Q of x is

parallel to X-axis then the value
(A) 8 (B) 12

© -8 D) 6

Name the primary CO, acceptor in mesophyll
cells of C, plants.
(A) Triose phosphate
(B) Phosphoenol pyruvate
(C) Ribulose-1, 5-bisphosphale
(D) Oxaloacetic acid
is a type of memory circuitry

that holds the computer’s syslem software
such as Boot loader,

(A) RAM
(C) RIM

(B) ROM
(D) Cache

Origin of Species by means of natural

-selection was given by

(A) Lamarck (B) Linnaeus
(C) Charles Darwin (D) Erasmus

In a C++ program, members of class are
by default

(A) Public
(C) Protected

(B) Private
(D) None

Mahatma Gandhi was first arrested in this
railway station of Haryana

(A) Palwal (B) Panchkula
(C) Kalka (D) Amritsar

is the present Lokayukta of
Haryana,

(A) Pritam Pal

(B) Justice Nawal Kishore Agarwal
(C) Kaptan Singh Solanki

(D) None of the above

Which element is deficient in milk ?
(A) Potassium (B) Calcium
(C) lron (D) Magnesium

s

30.

31.

32.

36.

LT
af2 P(12, 8) 3 Q(24, ) w1 ey
X5 < TR 8, T x F O 3

A8 (B) 12
©) -8 © s

C tﬂtﬁaﬁ ﬁ'ﬁﬁ'ﬁ ?Tliﬁmaﬁﬁ Dlﬂﬁ;;-' C’U
el A e | ‘
(A) TS FIERE

(B) GIERISATA ‘TI'SF‘?‘Z }

(C) TsFAm™-1, 5-fargiee

(D) TSR I

oy} a9y FH U & 3
F@R |
(A) RAM (B) ROM
(C) RIM (D)

STRFT AT ZT0 WSl w1 I

ara & mn |

(A) omrh (8) <hifm

(C) =ed =ifdq (D) 3=

U C++ Wm H, 1 3 wew fegies &g
T_ ¥

(A) \ESRS (8) frsh

(C) wiféra (D) =i TE

HETe i R et A w3
haz%mﬁﬁrmuﬁrmnmm
(A) UTa= (B) 4
(C) =erh (D) Ingaww

iy
RN

au W fFm aa i f 7
(A) uiZfirm (8) Ffewmm
(C) e (D) firam
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37. Co-operative larming become more

41.

42.

successful in
(A) Denrmark (B) Australi
(C) USA (O) incia®

Number of banks nationali
1969 Is zed since

A) 18 B) 19

{C; 14 {D; None of the above
Who is empowered to suspend
operation of Fundamental Rﬂﬁghli;h‘?

(A) Parliament (B} Supreme Court
(C) President (D) Prime Minister

Kalpana Chawla, the first woman of Indi
origin to go to space was bormn in this r;)?:::r;

(A) Kamal (B) Hisar
(C) Kurukshetra (D) Panipat

If x, 2y, 3z are in A.P., where x
distinct number and are in G.P.'.slfhgr? ;ge
common ratio of the G.P. is

(A) 3 L

(B) 3

1
D) —
(») >
This district of Haryana has highest number
of Vidhan Sabha constituencies

(A) Gurugram (B) Panipal

(C) Hisar (D) Yamunanagar

(C) 2

Which of the following do you feel are
compatible with the idea of secularism ?

(A) Recognition of State religion

(8) Dominatlon of one religion

(C) Equal State to support all religlons
(D) None of the above

Recently Central Government released
UMANG app, It is for
(A) Online banking

(B) Single window platform for all e-Gove,

Services

(C) Registering child sexual abuse
cases

(D) None of the above

37,

39.

40.

a1.

42.

3/2018 (2)
iy A g wra g d
(A) B3TH (B) igferm
(C) j.uH.u. (D) W
1969 ¥ W@ A T 7o, Fa o) 3wy
(A) 18 (B) 19
(C) 14 (O) 37a 3t 4 = T
iferr 3Rl F durem ) frefm aa
$ ofF Pk am @ 7
(A) wHa (B) wWate =raTer
(€) weufa (D) FwETA

et 3@ ) st 8§ s Teeh

nfeen e =Iaen 5 w4 T T o

(A) I (B) frum

(C) Fw&a (0) Wi

72 x, 2y, 3z FOiER #oft 6 R, A x, v, 2 i

weend § i sfid aed 8§ §; @ =i

Soft = WIET A §

(A) 3 ® 3

© 2 ©

gt‘;z;ﬁwnﬁ:mhﬁﬁaaﬁﬁmfaum?ﬁ

(A) TEI™ (8) yrHiud

(©) feam (D) WA

it e & 9T % qg S0

Prerferfiaa 3 @ - gom e @ 7

(A) TSy i T =T

(B) UH °H T WM

(C) |t uml = wRA FAaTen HHH Tl

(D) 3% § A =g 7E

T @ 3, 7 wan 3 ‘3’ ofy sl e

g wfemR

(A) ATAega A
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(OJgs. According to a legend, this sarovar tas b : 4 =1 Tt 3 SR R
i ' l'l;lenlci}'?dr;1 n ?Aah%ggar&la s%itlilngnl:!% :’f‘f_l:"g; fil # A m;s;" ::ﬂ " A T
& A u ana to hide him : 7 RESIG R AL el
| =i on the concluding day ©f the war Eﬁﬁmﬂ"f" 359
=l =4 (A) Bhimkund # fireran B '
> = (B) Brahma Sarovar (A) TS (B) e HI j
I (C) Surajkund . wiudigs 52..
‘= (D) Hathnikund (©) TEES ©)
= { 12 AT
=z M Wﬁmm%mm
11> 46. How many 2 digit even numbers can be 46, Tfe HF R . - o
Cacdin) formed lrgm thcsaJ digits 1, 2. 3, 4. 5, if the 1,2,3,4.5 fraa 2 A Eagsuksieain
> Jm digits can be repeated ? TS SN 27 53
: (A) 10 (8) 8 (A) 10 (8) 8
. (C) 25 (D) 24 (C) 25 (D) 24
47. An ASClIl is a character-encoding scheme | 47. & ASCIl T A -TEF mfr-n.il, B o
:hat ls employed by personal computers qfaa @il g fahe e, FEns |
e n order to represent various characters, | = B - ot 21 29T B AT ]
. numbers and control keys that the computer 31'1‘{ i 3 ﬂm%ﬁ R 3
user selects on the keyboard. ASCII stands o8 =g waEl %WWW% | ASCII 5
for =1 HeeTd
(A) American Standard Code for (A) sTfEA =z FE B TR
Information interchange Rkl
(B) American Standard Code for Intelligent. . P
Information (8) ST wed F1s B R !
(C) American Standard Code for GEDINRTty sl e
Information Integrity | (©) i e Fie T g £d
(D) American Standard Code for Isolated (D) FHITHA Pgd e B TS
Information TR
| o | -
48. Haryana was the first Statein the country |  48. wiemn 31 100% mTHTuT fergeTRT
to achieve 100% rural eleclﬂﬁceli_on in s FET 97 1 qEen TG 1 |
(A) 1947 (B) 1955 | (A) 1947 (B) 1955
(C) 1970 (D) 2000 | (C) 1970 (D) 2000
* | i
49. The radius of Ge nuclide is measur dto! 0
be twice the radius of Be’. The m.nrnl";’erloc}t | 49 Qe i = % ' Be ?; eal 'ﬂ
nucleons in Ge are A T R | Ge ¥ :qi'éi‘aaqﬂ <1 Fe &
(A) 71 (B) 72 A) 71 (8) 72
(C) 73 (D) 74 () 73 (D) 74
. IfZ=52and ACT = : AN e
| 50 Caual to and ACT = 48, then BAT wilbe | 5o, % 2=528RACT =48 & 3 BAT o
[ (A) 39 (B) 41 (A) 39 (8) 41
(C) 44 (D) 46 (C) 44 | (D) 46
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57.

55.

56.

(D) None of the above

Yonr i
The Interaction between sea anemone that

has stinging tentacles and the clown fish
that lives among them, Is an example for

‘A) Mutuallsm (B) Amensalism
"1¢) Commensalism (D) Parasitism

Paw' is related to ‘Cat’ in the sam
‘Woof' is related to RISy

:A) Horse (B) Lamb
(C) Elephant (D) Uon

Shivalik hills are present in the
~ant of Haryana.

A) West (B) East
(C) North-east (D) South-west

Which of the following is a floo :
in python 3.0 ? v red division

(A) / 8)
(C) % (D) .

Value of k in the quadratic equatio
2x=+kx+3=0$othatithas§equa?rootsls

(A) =4 (B) +26
(C) =3 (D) None

Bhagwat Dayal Sharma was representing
constituency when he became

the first CM of Haryana.
(A) Bhiwani (8) Tosham
(C) Pataudi (D) Jhajjar

Non-Performing Asset (NPA) which is

making headline from
is associated with

(A) Insurance corporations
(B) Banking establishments
(C) Corporate companies

The Constitution of India provides reservation
of seats for SCand ST In Lok Sabha. Initially
it was made for 10 years. Now it has been
extended up to 2020. As on 1 September,
2012 the number of seats reserved in Lok
Sabha for SC and ST aré

(A) 84and 47 (B) ag and 27

past several years, |

(C) 44 and 37 (D) None of the above

51.

52.

53.

55.

56.

57.

-9-

_ 3/2018 (2)
a7 AR HEN W A a9

?" ELS B QT.REZ]?N'[‘& \

(A) FESTE (B) HIHATIM

(©) weMifsTan (D) TS

“Freeht’ B o HAf@ R, 3w
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(A) A& (B) Hw

() wdl (D)

e ars s

(A) wizEm ®) @

() IW-gd (D) efam-afzm

ﬁﬁ%ﬁﬂﬂﬂﬂiﬁﬁ-—m@m{maoﬁ

et fedree @ 7

(A / (8) /

(C) % (D) -

foraref) w22 + kx +3=0 T K& A

3 Rl 3o 21 7@ FAF B 8 |
(A) 4 | B) +2V6

(C) =3 (D) =

-, = eoickiekn
FE4 |
(ay fFrar
(C) e
ST HAMH (NPA) = fros Foau 4
gl @ €, 98 AL
(A) = R

@) e yfa=zm -

(C) T Fufal

(D) zad A FE T

Wﬁﬁmsﬁmmﬁsmfaﬂaﬁem

e 3 fer e = SmEm S
T 2 | T A @ 1074 ¥ fow Fam ™
a1 | 37 58 20207 7G1 Fr T R | 1 @I
2012 T sifedl

%%Qﬁﬁmmﬁmfmmﬁﬁﬁwt
(A) 843w 47 (B) 38 AR 27
(C) 443 37 (D) mwﬁi:ﬂl
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59. I r'F" = B840, "C' =35, then’ =

61.

62.

(B) 24

(A) 6
(D) 5

€ 4

any genes

ined by m
A character determ ariation IS

and does not show discrele v
known as

(A) Qualitative character
(B) Oligogenic character
(C) Quantilative character
(D) None of the above

The mean of six observations IS 8. Il each
observation is multiplied by 3. then new
mean becomes

(B) 8

(A) 11
(C) 48 (D) 24

If the word CAPITAL is wrilten as
DCSMYGS, how the word NATION is
written in that code 7

(A) OCWMTT
(C) OBUJPU

(B) OBVLST
(D) OCLML

First Clone Dolly was made in
(A) Sheep (B) Goat
(C) Cow (D) Buftalo

Hawa Singh won the Asian Games gold
medal in consecutive editions of the
ames In the 1966 and 1970 for which of

the following games ?
(A) Weight lifting  (B) Boxing
(C) Running (D) Badminton

Which of the following States or Union
Temitories has highest density of population ?
(A) Delhi (B) West Bengal
(C) Maharashtra (D) None of the above

Tangri river is a tributary of
(A) Yamuna (B) Ghaggar
(C) Ganga (D) Markanda

60.

61.

62.

59. Iﬂ% "P's 840,

gtﬁ‘gﬁﬁmﬂﬂm'a

65.

ARy

"C,= 35 R WMr=
(B) 24
(0) 5

@a@-ﬁﬁﬁ?mﬁ“ﬁﬁﬂﬂmt

(A) 6

(€ 4

—_—

FeAra ¢ |

w:qﬁmﬁmma%mﬁmuﬁm

) 33 T v T, @
(A) 11 (B) 8
(C) 48 (D) 24

af CAPITAL %7152 @i DCSMYGS ﬂ*«j@ :
3 2, NATION 7752 @ 36t 2 1 44

R@som 7 o
(A) OCWMTT
(C) OBUJPU

qEel A Bieil
(A) W3

(C) ™4

T e 1966 31 1970 3 TTaR TR Ea
i =0l yew Frerfaftaa 1 A fra @ o < 7

(A) W (B) HFhaTh

©) a3 (D) ¥efirea
feferfiaa 3 frm a1 s wiva w20
1 e aee 3tftean @ 7

(A) feeeh (B) qfFm =
(C) OIS, (D) Jaa & A T

(B) OBVLST
(D) OCLML

rEccill
(B) @F
(D) =

66. e B e R

(B8) LU
(D) Wi

(A) TF
(C) T
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72,

73.

~ ta) 395

T BT BV RO A
67,

1 unsolicited e-mail message sent to many

- _.<cipients at once is a
oY) Worm

(B) Virus
(D) Spam

~aw many Schedules are ther
Zonstitution ? S
(B) 12

) 19 (D) 10

Gandhiji began his walking from :
Ashram towards Dandi on Sabaramati

() 12 March, 1930 (B) 12 March, 1932

+C) Threat

' 1C) 12 April, 1930 (D) 12 March, 1931
7v.

"nest gold sol is

_ in colour.
{A) Red (B) Pumle
(C) Golden (D) Blue

Consider the lollowing statements :

1. Cirrus clouds are formed at high
altitude.

2. Cumulus clouds are look like cotton
wool.

3. Stratus clouds are the layered clouds
covering large portion of the sky.
4. Nimbus clouds are black or dark grey.
Identify the correct statements,
(A) 1,2and3
(B) 2,3and 4
(C) Only 3and 4
(D) All the above

This King of Rewari was one of the main
leaders of the Indian Rebellion of 1857 in
Haryana

(A) Rao Sukhram

(B) Rao Tularam

(C) Rao Gujarmal Singh

(D) Rao Ruda Singh

POP3 and IMAP are e-mail accounts in

which _ . 4

(A) One automatically gets one’s ma
everyda

(B) Oneryhasyto be connected to the 'I
server o read or write one's mal

(C) One only has to be connected to the
server to send and receive e-rr‘nail

(D) One does not need any telephone

lines

67.

69.

70.

71.

72.

73.
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3/2018 (2)
U AT =5 MR R e vy v s
{-d b
(A) Ffa (@) (8) awm
(C) wwhl (0) #m
wfaur # Bl svefmi § 2
(A) 395 (8) 12
(C) 19 (D) 10
s 3 ) WA S R
271 ) 3 wTE I1= Fran |
(A) 12WT4,1930 (B) 129, 1932
(C) 1230, 1930 (D) 12w, 1931
AgaiE @ Hid mE e
(A) & (B)
(C) A&l (D) ren
fFrofafaa a1 o famm = .

1. 9& U9 FEE AT §

2. HEl T w3 I frma ¥

3. i W7 WaeE A6 BId & S S
& TEe VI T AT=oifed wid § |

4. =91 09 TS TN AR E )

T FHa e |

(A) 1,233

(8) 2,334

(C) Faa 334

(D) I &l

@rEl w1 7z v eiamn 1§ 1857 F v

fase & q@g Aaefi H A vw 9

(A) TE gEmm

(B) TAgEH

(C) T4 ToRwa fie

(D) = %2 fae

POP3 it IMAP §-Iet arTie & fomit

(A) T =1 30k B wfafem m: e s &

(B) Tl @1 a1 e wg o ford &
fore weft & g v @

(€) Frell ) Fae -3 o 3l W
w3 % fore wel @ g g R

(D) ﬁ;{ﬂmaﬁﬁ‘ﬁmwﬂ
YT e Il
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Ty
i ) Sl T O HO

i h . ¢ 74. 1 JIdh1 m
ook — g el i,
hich desc m 3
ggsc')cinllon wim‘?rhgnosnr. 3 afia (B) ETFE"RTH
(A) Bhasa (B) Kalidasa (A) wmE (D) |
(C) Banabhatta (D) Dandi (©) 2 21
75.  Human Development Index issued by 75. W@ ﬁ‘a“g IR
(A) IMF (B) World Bank o smn 2 1 8) fza &%
f the above (A) IMF ( EE kR
(C) UNDP (D) Noneo (C) UNDP D) :mr_ S
76. _ Is used as a promoter inthe | 76. &=t Wik gry smiEn ol Eﬁ:T% |
synthesis of ammonia by Haber's process, UF avieh & ®9 1 TgH
(A) Antimony (B) Arsenic (A) A (B) CIGIEED
(C) Molybdenum (D) Iron (C) mﬁ.ﬁ[g:;:{ (D)
77. Haryanvi tradition credits ________ for 77, admm i edt 1 Hfa T w1 29 giEnE
le;}gng the foundation of the present style Qg FIEA R
of Swang,
(A) Kishan Lal Bhaat (A) fom et wre
(B) Pt. Deepchand (B) 9. m
(C) Dayachand Mayna (C) =gr=e 7rgn
(D) None of the above (D) 3IFad | =Y T
78. The 4™ term of a G.P. is square of its 78. U S Aroft w1 e a2 39 =9t g2
second term and the first term is — 3, Faid Mo 92 -3, at
then the 7™ term of the G.P is Aoft =57 7atug 2
(A) -2187 (B) 2187 (A) -2187 (B) 2187
(C) 343 (D) -343 (C) 343 (D) -343
79. Complete the analogy. 79. wwET gui iR |
8:28:27:7 8:28::27: 92
u . -s L]
(A) 8 (B) 28 29 (A) 8 (B) 28
(C) 64 (D) 65 %“ (C) 64 (D) 65
80. This pomicim had a ra':e dislinc]:lion of {o/"‘ MU = St Yo, tremam af
serving as Minister in the undiv ded FA LT IR R o qu
Punfab, Rajasthan and Haryana ,?' 5 H M%anm mgﬁq
(A) Bansilal L Taw
(B) _Choudhary Tayyab Husain ('f (A) 'vEﬁ”“E”EI
(C) Zakir Husain lgl uﬁ%g:@q
(D) Choudhary Yaseen Husain (C) s
(D) <hedt ameia g
81. Inthe seq'Lie_nce of number 81. HEeTi 5 8,13, x, 34,5
5. 8. 13, x,84, 55, 89, the value of x | X F A % +34,55,89 % &
(A) 20 (B) 21 (A) 20 (B) 21
(C) 23 (D) 29 (C) 23 (D) 29
-12.
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N
r V N
R 018 (2
that at loast one tall S.sEESrE".‘;bab"iw g2, U fas F1 3 A ITEn A & | FH A FW
(A) 1 1 ﬁmmmmﬁiﬁmﬁm%
8 (A) (B) -
© 2 : 4
2 (D) O ©) 2 ©) 0
. Whi i
B, e o vind e o Gpsd surce. || 80 BB ARSI T
(A) MS Word (B) WordPerfect Offi ? .
(C) Kwrite (D) MS Excel o (A) TWERTE  (B) TETWHR :ﬂ‘ﬁ?m
(C) TR (D) T TR TFEE
84. ggfdg%mbﬂréd;risomamed when 6" - 5n Is 84, %; - s 25 } fawnfvm = W wrs
(A 0 (8) 10 A .
(€) 1 D (A) O (B) 10
D) 5 (€ 1 (D) 5
g5. Nematode resistant tobacco plant is 85 i a i
developed by a novel strategy called ) qg_‘-m_i e ﬁ'ﬁﬁﬂ—_fgﬂ.aﬁ |
(A) RNA Interference ) T -
(B) DNA interference @ @ .va q e
(C) Green revolution ©) 2 Fif
(D) None of the above (D) & ekl
6. ____receivedtheJnanpith Awardfor | 86. F 2017 1 & wifee # 345
her contribution to Hindi literature in 2017. ArTer ¥g TS JrERn e |
(A) Vanitha (B) Shankha Ghosh (A) afr (B) @ T
(C) Pratibha Ray (D) Krishna Sobti (C) WM (D) Fom Hradl
, B
87. The number ;)' terms in the expansion of 87. ((2:: oy )4) 3 P i e o) w8
'- 3] is
((2x+¥°) ) (A) 8 ®) 29
(A) 8 B) 29
©) 28 ©) 12 (C) 28 (D) 12
maﬁmammam
88. The only person who acted as a caretaker | 88, FTEIH: J
Pﬁ?ng ir?ister of India twice queE ¥ w9 1w R
(A) Devilal (A) ST
1 (8) B.D.Jatti e #.&.5@
(C) G.L.Nanda €) . @, 7
| (D) Lal Bahadur Shastri (D) T FTETG
13- H
¢ ’?\-?@“ REDMIINGIEIGIPRE
AO A |'DUABCAMERA
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Ennu‘.h.umnﬂ W g Iu | At ﬁ
Fill in the blanks with appropriate article. 95. -EE;“?H:?“W FE D7
89. Tagorewas _____ (ruly great poet. (A) = FE (B) &9 TH
(A) a (©) W T (D) i &
(B) No article needed . aref 2
(C) the 96. ‘ez den’ gETal F
(D) an (A) WA &
80. There is not man here who will (B) STl
not support you, (C) wdars &
AL mweme | B
n «
bieet, | 97 v wmma i g@w g wuE ¥, 30 FH-wm
Supply suitable verb in agreement with its subject. e wEd § 7 ﬁ.ﬁ
91. The means employed by you _____ (A) aegeq (B)
(s:;ﬁcienl. (©) 7= (D) =Eshife
are .
(B) were 98. T+ Uk = ‘UHd W@ FA-H whi ?
() is (A) e Hfy
(D) None of the above (B) "“Wﬁ‘
92.  Sanskiit, as well as Arabic, ____taught ©) Frawf
::e;re. " (D) T EfYy
was (B) are e = ‘
(C) were (D) have 99, w;aé§| T8 AT W oEE
FEad
Select the correct expression from the given
options and fill in the blanks, (A) &9 wg (B) & q—%
(C) &g (D) T3 ye
83. He was much — _byhis loss, ) “ .
(A) cast away (B) cast down 100. <1&%1 } e ATy Yy T8 -4
(C) cast off (D) call up AR 7
94. A religious hope aman in his (A) ma qrs
trials., (B) = ar=y
(A) bears up. (B) bore away (C) =j ar=a
(C) bears upon (D) bears out (D) a}g En|
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